ASSEMBLING INSTRUCTIONS

@

5
~s >
<

B~ .

P1 | & 20pCcs | (P11| =D 8 PCS
P2 ) 20PCs | [P12| LA 1 PC

P3 | @wmee  M4x35mm [12PCS | |[P13| 4 PCS
P4 M5 x 40 mm | 24PCS P14 M3 x 14 mm 4 PCS

P5 M 3,5x 12 mm | 36PCS

P6 ;//Z/ 3 PCS

CL DL DR
P7 | & M8 x 30 mm | 12PCS
P8 = 3 PCS
P9 B M4 x 18 mm |6 PCS

P1o| 24PCS




= Pax6

P4 x 6

P11 x4




7

&




